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Roll No. of the Candidate (=13 =i¥a @& 793) :

Read the following instructions carefully and do accordingly (Fsfaie fricst eereita 1w g

ST (&TY)

i) Group - A contains 22 questions with 44 marks and Group - B contains 4 questions with 16

marks. (3 - et 22 6 2t 88 795 @3 ¢ - [{eitat 8 20 sv 793 TR)

ii) All the questions are compulsory (3171 23 Tex T SRH)

iii) Write the answer of each question in the specified space (2fsft a0z Tez e =it &7¢)

iv) Papers of rough work are to be attached with answer sheet (31 e Ted 2Itaa A Grownie)
Group — A (2 x 22 = 44 Marks) < - fTo1% (3 X 33 = 88 799)

Group-A

1. Fill in the gaps (478 274 99) 8— 2x10=20
(i) W WON = o thousand. )oozooo R = oo 2w |
(i) The difference between two consecutive least prime numbersiis ..................

TRCHTE (BT T T AL GOF SR T v
(i) 91— i =0.09

DY — e = 0.0
(iv) Write the missing number 3, 8,63, ..................

foefin® sl o1 ¢ o, b, v, .......
(V) e Percent of 360 is 5.

G ICTo RN S O e ¢ |
(vi) Square of a proper fraction is always..................... 1.

GF AFC SRR I TR S (ATF covvvvreeennernnn |
(vii) % istobe added ........... times to that the sum is 40.

iﬂ‘{ .................... QT A9 FFCT (AT 80 (S|

(viii) The smallest of the two numbers 0.009 and 0.00251s ........ccccceevereeenne
0.00% &3JR 0.003¢ WQWWWWWWQWQ_VT ...................... 5cm

1.5 cm

7 cm

15 cm



The perimeters of a rectangle and a square is equal. If the area of a square is 100 cm? then the
area of the rectangle whose length is 1.5 times of the breadthis ................

OB STOCTFE QR GFT6 I9TFCaD AN 7519 | 7 I9(TF0aa (Fawa Soo 9N T OE (@ AOCHAd
W ATED 5.¢ % OIF CFITET T v |

2. Each of the following questions has four alternative answers, among which only one is

1
correct. Underline the correct option. — mark will be deducted for each wrong answer.

(iif)

(vii)

2
e 2fSi 2 vl w0z s Ten (real iy, v WKy G Wi Teg 7 | 7 Teafba Aiee et e |

ﬁ%w%w%mﬁm| 2x12=24
The HCF of 28, 37 and 43 is

b, 99 3R 89 T AALY TS| —

(a) 28 (xv) (b) 37 (09)

(c) 43 (89) (d) None of these (4&TAE (FIH3 77)

Which option of the following is a twin prime ?

SR (I W (b TS GTIfRe AT 2
(@) 2 and 3 (2 ¥R 9) (b) 11 and 13 (>5 €3 9)
(c)3and 7 (0¥ 4) (d) None of these (Q¥TeTR (FFH2 )

When 0.351 is converted to percent, it becomes

T 0.0 (F O AT a1 =, 0L 37 7o —
(a) 0.0351% (0.09¢5%)  (b) 3.51% (9.¢5%)  (c) 35.1% (9¢.5%)  (d) 351% (90&>%)

1
The fraction which is less than 1= is

2
P
>zcwm@miﬁ%m—

5 5( ¢ ¢ 7 1 (4 s
72 52 [ — oS 5L 3 |e— -0
@ 735 6[>a wj (b) >73 12(& nj
2 7 (% a 5 3( a e
6=-51 o2 —e— 7232 |4t — o2
(c) 03 12[@ nj @) 715 4(>a sj

If 5 apples and 4 oranges cost Rs.48 and 3 apples and 2 oranges cost Rs.28, then the cost of an
apple is

W > =ToeT @3 876 FTAIERT 30 8b il R 0fF =Tl «=g < TR 0 b i, O3 GFf6
SCATES 36T 7T —

(a) Rs. 6 (L BI) (b) Rs. 8 (v Bi=)

(c) Rs. 10 (so Bi=) (d) None of these (Q%TaTR (FI02 =7)

The number of ways in which 36 can be expressed as a sum of two prime numbers is —

oV (F 20 GNfeTe TR (Fiorpet 2T ToLRCH AT T I ©f 7o —

(@) 3(9) (b) 4 (8) (c)5(e) (d) 6 (v)

3
If the denomitor of the equal value of the fraction 1 is 60, then its numerator is

2 SARTHAT I NI SAKTHT 27 Vo 20, (18 SARTT 79 20T —
(@) 15(>@) (b) 30 (90) (c)45(8@) (d) 60 (vo)



(0.01x0.04+0.04x0.25)+(0.01+1.03)

(viii) The value of 0.02x0.5 is
(0.0>><0.08—|—0.08 XO.QQ) +(0.05+>.oo)
000G 9 S T —
(a) 0.25 (0.3¢) (b) 0.5 (0.¢) (¢) 0.75 (0.2¢) (d)1(5)

(ix) If one of the equal angle of an issosceles triangle is 30° then the value of the remaining angle is

I G0 eIl fTerer el (FTRtaa G wo° 2, O SRS (Fba W 251 —
(@) 120°(s%0°) (b) 100°(s00°) (c) 90°(50°) (d) 60°(vo°)

(x) Inthe adjacent figure the total number of square is

A Brg @G I9fTwraa A =51 —
(@9 () (b) 10 (s0)
(€)12(>%) (d) 14 (s8)

(xi) The diagonals of a rombhus bisect each other at
G TIOR 67 22T (@ (@Il Tfadfes 7 o 21 —
(a) right angle (Tcel)  (b) acute angle CGTHTSI)
(c) obtuse angle (Z=TC=) (d) none of these (4TI @2 )

A
(xii) Inthe adjacent figure AB = BC, the value of /4Cp is
A= forg AB = BC. /4D 99 W9 T —
(a) 90°(50°) (b) 45°(8¢°)
(c) 135°(s9¢e°) (d) None of these (QaTa (FINHE 717) 5

C D
Group — B (16 marks) ¥’ @9 (sv 799)

In this section sums are to be worked out in details. (42 fReita7 exiefer Ter f@ifteeia Fare 23)

3.  Find the area of the given figure. D 4cm C 4
ave Braa (Fawe e 34 |
Ans : 1.5cm
F E
2cm |A B 2cm

4 cm




4. Tinahad Rs. 23. She bought some pencils costing Rs. 3.50 each and some refils costing Rs. 1
each. If she bought 8 items in total then how many of each did she buy ? 4

o (a6 o BRA et | (7 6% (o117 ©.¢o Bissl vt «3 (g et SBissl wa ecafeet | 3w o7 (oiferet @
fafere ffercar (it v foew it ota ooifer ¢ fafrsr 5t 0 ettt |

Ans :

1
5. Each students of a class gave a subscription as 1 th of the number of students in the class and as

such Rs. 2500 is collected. Find the total number of the students in the class. 4

G0 FIR Zaziae I LTSI O .wawgwwmmaﬂa&mﬁwwmﬁmaﬁ@w@m

ZIRAI TR FO ?

Ans :

6. The step by step solution of a problem is given below. State the problem in minimum number
of words : (&< 2Mfafse iz AITTa Yiviefer Srard T4t 2o | TATET T *7 A2 FE TG A F) 2 4

Cost of (4 books + 3 khatas + 5 pens) = Rs. 2250
Cost of (3 books + 4 khatas + 2 pens) = Rs. 1950
Cost of (7 books + 7 khatas + 7 pens) = Rs. 4200
Therefore, Cost of

4200
(1 book + 1 khata + 1 pen) = Rs. = Rs. 600

7
The man will get book from the salesman
= Rs. 2000 - Rs. 600 = Rs. 1400
Ans :

8f6 9% + ofb 4ol +¢fb T o = 23¢0 Bt

o6 72 + 86 el + 6 o= T = sveo Tl
a6 98 + 2 6 Aol + Q%W&?«U= 8300 B
e, s 78 + o el + 56 w0 T

800

= . %‘]ﬁi‘[:%oo%ﬁi‘]>

@0 [reFe! (AT Fae A@
= 3000 BT — Yoo G = S800 G |




